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- What are the various categories of cost drivers ?
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PartA .
_ Answer all questions.
IR Each question carries 1 weightage.
Deﬁne the terms Prrme Cost and Overheads ‘

’What are equlvalent units ?

What do you mean by CVP analys1s ?

‘Define Pareto analysis.

. Describe the two potential problems that should be avoided in rélevant-cost analysis ?

S (6x1=6 weightage) :
Part B. ’ v

Answer any four questions. |
Each question carries 3 weightage.

. Discuss the various process costing methods in service sector.

What are the features of JIT ? What are the features of JIT ?.

~ “Target costing helps the organlzatlon to balance all the aspects that are beyond the control of an

organization.” Dlscuss

“Strategic cost management has become an essent1a1 area these days While formulatmg the strategy

- for the accomphshment of overall orgamzatxonal objectives, dlfferent cost drivers should be clearly

ldentlﬁed 7

11

erram enterprlses manufacturers and sells black cleanser worth Rs. 40,000, white cleanser worth
Rs. 50,000, scanted cleaner worth Rs. 20,000 and naphthalene balls worth Rs. 10,000 every month, .
The firm's too! fixed costs per month are Rs. 24,400. The variable costs are: on block cleanser 60%
on whité cleanser 68% on scented cleanser 80% and on naphthalene balls 40%

Turn over
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12. Desktop Co. manufactures and sells 7, 500 uuits of a ‘product The full Cost per unit is 100. The ,
~ Company has fixed its price so as to earn a 20% return on an Investment of 9,00,000. Requlred (1)

Calculate the Selhng Price per umt from the above. Also, calculate the mark-up % on the Full Cost

per unit.

(1) If the Selhng Price as calculated above represents a mark- up% of 40% on Var1able Cost
per unit. Calculate the Variable Cost per unit. '

(iii) . Calculate the Company’s Income if it had increased the Selhng Price to 115. At thls price,
“the Company would have sold 6,750 un1ts Should the company have increased the Selhng
price to '230 ? :

- The propr1etr1x Ms. Anuradha shah bemg basically a science graduate, wonders at what comblned
sales volume dues she really start earning profit. Please her in arriving at such a sales volume.

(4%x3=12 welghtage)‘

Part C '

| ‘Ans'wer any three of the folloioing.

» Each question carries 4 weightage.

13. leferentlate between marglnal costmg and absorption costmg

14. From the following figures, find the Break-Even Volume Selhng price per ton Rs.69.50 Varlable -
- cost per ton Rs.35.50 Fixed Cost Rs. 1802 lakhs If this volume represents 40% capacity, what is’

the additional profit for an added productlon of 40% capacity, the selling price of which is 10%

" lower for 20% production and 15% lower than the existing price, for the other 20% capacity ?

15. Discuss the importance of the following terms in relation to marginal costing. A] Key factor ; ‘
B] Break-even point ; and C} Margin of safety. . ’

16. XYZLtd.is manufacturmg three products A,Band C All the products use the same raw materxal
which i is available to the extent of 61, 000 kg only. :

The followmg 1nformat10n is available from the books and records of the company.

Particulars .= - , : Product A ProductB | ProductC
Sel_ling price per unit " : A. Rs. 100 | ‘ Rs 140 | Rs.90
Variable cost per unit: A ! Rs.75 Rs. 110 ‘ Rs. 656
Raw material requirement per unit [kgl 5 8 R Y
Market demand - units | 5000 | 3000 4000

Advise the compahy ahout the most profitable product mix and also compute the amount of profit |
" resulting from such product mix if the fixed costs are Rs. 1,50,000. '

17. Discuss the various cost control techniques.

| Bx4=12 wveiightage)
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Part D
Answei' the following cdmp'u‘lsory_ ques‘tiqﬁ which carries 6 weightage.

18. A compahy manufactures two products, X and Y. The prbdu'ct X is a low volume and its sales are
only Rs.5,000 p.a. Product Y is high volume and labor 1ntenswe, its sales are 25,000 umts p.a.
Product X takes 6 labor hours to make one unit but Y’ requires 8 hours per umt

Details of costs for materlals and labor for each product are as follows :

Particulars = o ProductX Product Y. ' o 3

Direct Materials _ Rs. 200 1100
Direct Labor - @ Rs.10 pér hour| 60 | 80
Total [ 260 180

The company works 1,00,000‘direct labor hours p.a. ‘Total Ihanufacturing overhead costs are -
Rs. 17 50,000 p-a. '

You are requlred to compute per umt cost of each product using, I. Direct labor hour rate method
for absorptlon of overhead costs and II. Act1v1ty Based Costmg techmque for absorptmn of overhead

~ costs. ) :
(1x6=6 ‘W‘eightag\e)
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